
 

 

Answer on Question#65189 – Chemistry – General chemistry 

 

Question: 

A 800.0 g sample of drinking water contains 0.0390 mg chlorobenzene (C6H5Cl). 

(a) Express the concentration of chlorobenzene in ppm (parts per million).  

WebAssign will check your answer for the correct number of significant figures. ppm  

(b) What is the molality of chlorobenzene in the solution?  

WebAssign will check your answer for the correct number of significant figures. m 

Solution: 

a) 1 ppm = 1 mg kg-1 

𝐶(𝑐ℎ𝑙𝑜𝑟𝑜𝑏𝑒𝑛𝑧𝑒𝑛𝑒) =
𝑚(𝑐ℎ𝑙𝑜𝑟𝑜𝑏𝑒𝑛𝑧𝑒𝑛𝑒)

𝑚(𝑠𝑎𝑚𝑝𝑙𝑒)
=

0.0390𝑚𝑔

800.0𝑔
=

0.0390𝑚𝑔

0.8000𝑘𝑔
= 0.0488 𝑝𝑝𝑚 

b) 𝐶𝑀(𝑐ℎ𝑙𝑜𝑟𝑜𝑏𝑒𝑛𝑧𝑒𝑛𝑒) =
𝑛(𝑐ℎ𝑙𝑜𝑟𝑜𝑏𝑒𝑛𝑧𝑒𝑛𝑒)

𝑉(𝑠𝑎𝑚𝑝𝑙𝑒)
 

𝑛(𝑐ℎ𝑙𝑜𝑟𝑜𝑏𝑒𝑛𝑧𝑒𝑛𝑒) =
𝑚(𝑐ℎ𝑙𝑜𝑟𝑜𝑏𝑒𝑛𝑧𝑒𝑛𝑒)

𝑀(𝑐ℎ𝑙𝑜𝑟𝑜𝑏𝑒𝑛𝑧𝑒𝑛𝑒)
=

0.0390 𝑚𝑔

12.0
𝑔

𝑚𝑜𝑙
×6 + 1.00

𝑔
𝑚𝑜𝑙

×5 + 35.5
𝑔

𝑚𝑜𝑙

=
3.90×10−5𝑔

112.5
𝑔

𝑚𝑜𝑙

= 0.0347×10−5𝑚𝑜𝑙 = 3.47×10−7𝑚𝑜𝑙 

𝑉(𝑠𝑎𝑚𝑝𝑙𝑒) =
𝑚(𝑠𝑎𝑚𝑝𝑙𝑒)

𝜌(𝑠𝑎𝑚𝑝𝑙𝑒)
=

0.8000𝑘𝑔

1.00
𝑘𝑔
𝐿

= 0.800𝐿 

𝐶𝑀(𝑐ℎ𝑙𝑜𝑟𝑜𝑏𝑒𝑛𝑧𝑒𝑛𝑒) =
3.47×10−7𝑚𝑜𝑙

0.800𝐿
= 4.34 ×10−7

𝑚𝑜𝑙

𝐿
= 4.34 ×10−7𝑀 

 

Answer: 

a) 0.0488 ppm 

b) 4.34 ×10−7𝑀 
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